o’
&
l ﬂ

FOLE DATA - PED POLE - FIXED BASE

MMC #

POLE TUBE

BASE DETAIL ANCHOR BOLT

arnr POLE TYPE

THICK
{INy A= |

BASE DIA

TOP DIA

N} 8" | {IN)"C”

Dia ") (iN]
FLILL
IHEEADFED)

THICKNESS
"G" {IN}

LENGTH
i/ o

SQUARE "5"

BOLT CIRCLE | BOLT CENTERS HOLE/SLOT g
N} N "M (IN) H (M) LENGTH "K" {IN]

ANCHOR PLATE
Q0. {IN)

WA-PED-FB-PS-78

PS

WA-PED-FB-1-98

WA-PED-FB-RM-78

RAMP METER

WA-PED-FB-FB-138

FLASHING BEACON

1nGA

5.43

7.8

5.15

9.8

63 515

6 3/8" 34 1 4

9.8

4.59

13-8"

POLE DATA - PED POLE - CURB BASE

MMC #

POLE TUBE

BASE DETAIL ANCHOR BOLT

Qry POLE FYPE

THICK
(N A" | |

BASE DIA

TOP DA

IN) "B" {IN) "C”

HoLg/sior [ DIAE (M)

LENGTH
"H" (IN) "__ug

{FT} D"

SQUARE"S"| BOLT CIRCLE | BOLT CENTERS | THICKNESS .
{IN) “F 1N} M {IN) " (1N} Loy | LENGTHIK" (IN)

ANCHOR PLATE
OD."" {IN]

WA-PED-FB-PS-78-C

Ps

WA-PED-FB--98-C

WA-PED-FB-RM-98-C

RAMP METER

WA-PED-FB-FB-138-C

FLASHING BEACON

HGA

5.43

78"

5.15

98"

&3 5.15

9 9" 623/8" 3/4 1 3/4 38

98"

4.59

13-8"

%

"A"x"B"x"C"x"D"

POLE SHAFT

i 34

13/4"

MILLERBERND
O MM/YY O

%

PART NUMBER

ALUMINUM ID TAG

TEXT 7O BE STAMPED

APPROVED

Manutacturer's Pole Plan
Approved For Listing As A
Pre-Approved Drawing
WSDOT Bridge & Structures Office
By Date 3-30-20%)

90*

HANDHOLE
1D, TAG

TOP VIEW ORIENTATION

AS SHOWN

IN 5/16" HIGH LETTERS

SECURED TO POST WITH (2) 3/14" DIA RIVETS

\TASIA-WA-PED‘FB

MATERIAL SPECIFICATIONS

POST: ASTM A572 GRS5S

BASE PLATE: ASTM A70% GR 50

MAST ARM: N/A

MOUNIING PLATE: N/A

HARDWARE FINISH: ASTM F2329
CONNECTION BOLTS: ASTM FI554 GR5S
CONNECTION NUTS:

CONNECTION WASHERS:

ANCHOR BOLTS:

ANCHOR BOLT NUTS: ASTM AS63 GR DH
ANCHOR BOLT WASHER: ASTM F436
WELDING ELBOW:

FIPE: ASTM A53 GR B OR ASTM A500 GR B

DESIGN CRIFERIA

NOTE: FOR NOTE AT WELD SYMBOL TAIL SEE WELDING PROCEDURE SPECIFICATION

2015 AASHTO STANDARD SPECIFICATIONS FOR STRUCTURAL
SUPPORTS ON HIGHWAY SIGNS. LUMINAIRES & TRAFFIC
SIGNALS INCLUDING LATEST INTERIMS,

WINDS: 115 MPH WITH A MEAN RECURRENCE INTERVAL OF
1700 YEARS

VORTEX SHED: NfA
FATIGUE CAT: N/A
NATURAL WIND GUST:  N/A
LUMINAIRE: ~ N/A
LUMINARE WEIGHT: N/A
SIGN:  N/A

SIGN WEIGHT: n/A

GALLOPING:  NJA
TRUCK GUST:  NfA

WELD SPECIFICATION

THE POST AND MAST ARM TO BE ROUND TAPERED TUBE
FABRECATION WITH ONE SUBMERGED ARC LONGITUDINAL
SEAM WELD WITH 100% PENETRATION & FROM BASE PLATE.
FLANGE AND BUTT WELDED SHAFTS. EXCEPT FOR TUBES LESS
THAN 5 IN DIAMETERS; FOR FEMALE SECTION OF SLIP JOINTED
TUBES10” AND GREATER: 1.5 X FEMALE SECTION INSIDE
DIAMETER + & INCHES. FOR FEMALE SECTION OF SLIF JOINTED
TUBES LESS THAN 10" FEMALE SECTION NOMINA L DIAMETER
AND 0% FOR REMAINDER. GAS METAL ARC WELDING
PROCESS WITH 60% PENETRATION MAY BE USED FOR
REMAINDER OF WELDED FABRICATION,

WELD TESTING: 100% OF ALL WELDS VISUAL TESTED Mg(mn.
100% OF ALL COMPLETE JOINT PENETRATION dcmbw DS
ULTRASONIC TESTED cug BASED ON THE THINNEST MATING
MATERIAL: (PER AASHTC) 2013 5.15 5-WELD INSP} THICKNESS,
< 6MM (025 N} MT

2EMM (025N UT

WELDING INSPECTION OF STRUCTURE SHALL BE IN
ACCORDANCE WITH THE REQUIREMENTS OF WASHINGTOMN
STATE DEPARTMENT OF TRANSPORTATIONS STANDARD
SPECIFICATION SECTION &-03 3{25) AND 2015 ASSHTO WELD
INSPECTION SECTION 14.4.4.8

STRUCTURE FiNISH SPECIFICATION

GALVY. OR PRIME COAT:  HOT DIPFED GALV, PER ASTM A123
FINISH COAT: -

COLOR: -

FEDERAL OR RAL SPEC.: -

WEIGHT W/GALV.:

WEIGHT W/GALV.BPAINT:

SURFACE AREA:

GAL. OF PAINT:

(D) MILLERBERND %4752

THIS BOCUMENT CONTAINS CONFIDENTIAL INFORMATION AND IS THE
PROPERTY OF MILLERBERND MFG AND MAY NOT BE COPIED,
REPRODUCED OR DISCLOSED IN ANY MATTER WITHOUT THE EXPRESS

TEM

NO, DESCRIPTION

QY
PER

ASSY

FINISH

WRITTEN CONSENT FROM MILLERBERND MFG

SALES ORDER NO.: Qry: STATE: SHEET

1 |WLDMT POLE PED "A"XB"X'C%'D)"

X

74514 - WA 1 OF 2

1D, TAG - WA

DESCRIPTION:
SUB POLE PED RD - FIXED BASE

COVER HH MI16C 4 174X%4 3/4 2 BOLT

NUTHX1-4-2058

EST. WEIGHT: DRAWING NO;

REVISIONS

RIVET POP 3/16X1/2X3/8 HD 55

7451 4-WA-PED-FB

SCRW HX SK 8T HD 1-4-20NC X | 5§

REV.

DESCRIPTION

PROJECT NAME;

DATE DRFT

ADDED THE CURB OPTION

WASHER FLAT 1/4 55 5/8 0D ASMEBIS 22155

STATE OF WASHINGTON

3/22/21 |19

GASKET HH M16

UPDATED WELD NOTE UPDATED PER COMMENTS

PED POLES

6/12/2020 | RK

O |lw | N | AWM

BASERD0.5x 12"

UPDATED NOTES PER COMMENTS: UPDATED WPS TO MMC

STANDARDS

PROJECT LOCATION:

5/12/2020 | RK ANCHOR BOLT 3/4X36 LG (FULLY THREADED)

WA

ADDED 3/8" DIA GALV HANG HOLE IN TENON

1/22/2020 | RK 11 |WASHER FLAT 3/4 ASTM F434 GV

DWNBY: REBEKAH 02-16-2017

DATE:

3-30-21 (EXPIRES 12-18-21) 13 |NuTHvY HX 3-4-10nC G5 GV

24

CHK BY: DATE:




5" —]
et
BB
BlaR)
T2 617 & ‘_"_ - —+—-- —--—*
U \ AT
2 |
l
k 1
S
i}

T | BT T T T

oL !

RY [/2°TYP

SECTION AT-AT
SCALE1:8

~2 12—

GMAW-WPS-001F

GMAW-WPS-001F

1

SECTION BB-BB
SCALE1:8

@°F* BOLT CIRCLE

o

SECTION BA-BA
SCALE1:8

TOP & BOTIOM
SECTION AY-AY
45" CHAMFER SCALE1:8
{INSIDE & OUT) @3/8" GALY HANG HOLE
THRU | WALL ONLY
] pauz 4" SCH 40 PIPE TENON
e
T
4" GMAW.-WPS-001F

DETAIL AW
SCALE1:2

i
e I

o578
Pashe”

SPACER RING - INSIDE EDGES DEBURRED

GMAW-WPS-001F

\POLE SHAFT

POLE TOF TENON D L

APPROVED

Manufacturer's Pole Plan
Approved For Listing As A
Pre-Approved Drawing

WSDOT Brid

By

1/4-20NC STUD X 1 1/4 LG
WELDED TO PQST SHAFT

Date 2 -30-2024

ge & Structures Qffic.,

3-30-21 (EXPIRES 12-18-21

(D) MILLERBERND 22755,

THIS DOCUMENT CONTAINS CONFIDENTIAL INFORMATIGN AND IS THE
PROPERTY OF MILLERBERND MFG AND MAY NOT BE COPIED.,
REPRODUCED OR DISCLOSED IN ANY MATTER WITHOUT THE EXPRESS
WRITFEN CONSENT FROM MILLERBERND MFG

SALES ORDER NO.: an: STATE: SHEET
74514 - WA 20F2
DESCRIFTION:

SUB POLE PED RD - FIXED BASE

EST, WEIGHT; DRAWING NO:
74514-WA-PED-FB
FROJECT NAME:
STATE OF WASHINGTON
PED POLES
|PROJECT LOCATION:
WA

DWNBY: REBEKAH DATE: 02-16-2017

CHK BY: DATE;




